Math 001-|3 and 11|, Quiz 2 (P.4,P.5and P.6), Term 171, Instructor: Sayed Omar, 11-Oct-17
Serial #: ID NAME

Show all necessary steps for full marks.
Question 1: (5 points):

: o . : xH2y 2\ ((4x 2y~ e
(a). Assume x >0and y >0. Simplify the following expression =7?
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(b):1f x =3 and y = 2. Simplify the following expression ( > j ( J =7
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Solution (a):
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Another Method:
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Question 2: (5 points): Simplify the expression —3xy 4/32x °y ® +2x 2 4/2°xy *°
Solution: Since the index is even, then x >0 and y >0.

—3xy W+ZXZW:—3W W+2XZW
:—3xy2xy{‘/W+2x222y242xy2
:—6x2y2W+8x2y2W
= 2x7y {2y
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Question 3: (5 points): Perform the following indicated operations, and simplify:

(a): (\/m +1)(\/W—1)

(b): X+y+z)x-y-2)
(c): a*(@* —4)(@* +1)-(@* -1)°

Solution (a): (M+l)(\/ﬁ—l> :(M)Z ~1*=h*+1-1=h"

(0): (x+y+2)x -y —z)=[x+(y +2)][x = (y +2)]
=x’—(y +12)°
=x2-y®-2yz —z°

(©): a*(@ -4)@ +D)-@ -1)*=@" —4a")@" +1)-| (@)’ -3(a*)* +3(@* ) ~1]

=a* +a® —4a™ —4a* —a* +3a” -3a* +1

=a* —3a* —4a* —a* +3a™ -

=—7a" +1
Question 4: (5 points): Factor the following expressions
(@) y*-1-y°+y
(b) 2(a+b) ~5(a+b)-3
(c) 8r®—64t°

(d) %x 2(3x + 4)Y2 +%x1’2(3x +4)72

Solution:
(@): y*-1-y’+y =y’ -T-y(y -1
=(y =Dy’ +y +D)-y(y -1
=(y -D(y’+y +1-y)=(y -D(y*+1)
(b): 2(a+b) ~5(a+b)-3=[2(a+b)+1][(a+b)-3]
=(2a+2b +1)(a+b -3)

3" +1
2@+b) 1
(@+b) -3

(C): 8r®—64t® =8(r°—8t°) =8| r®—(2?)° | =8(r - 2*)(r* + r2t* + (2*)*)

=8(r —2t°)(r*+2rt?> + 4t*)

OR: 8r®—64t°=(2r)° —(4t%)° =(2r —4t*)(4r? + 2r -4t*> +16t*)

=2(r —2)A(r* +2rt% + 4t %) =8(r - 2°)(r + 21t + 4t*)

(d):

%X‘l’z(sx +ay12 +%x1’2(3x +4)7 :%X_“Z@X +4)77[(Bx +4) +3x ]

:%x‘1’2(3x +4)V2(6x +4) :%x‘”z(?;x +8)V22(3x +2) =

X Y2(3x +4)2(3x +2)
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